

$$= y^3 \dots (1)$$

$$-1 = y^3, n=3$$

$$\text{by } y^3$$

$$y^{-2} \cdot y^{-1} = 1 - (2)$$

$$z = y^{1-3}, y = y^{-2}$$

$$-3 \frac{dy}{dx}$$

$$2 \text{ by } y^{1-n} = y^{-2}$$

$$[-2y^{-2} x^{-1}] = -2$$

$$y^{-2} x^{-1} = -2 - (4)$$

$$\text{and } \frac{d^2y}{dy} =$$

$$(4)$$

$$= -2$$

$$= -2$$

$$2$$

$$f = e^{-2 \ln x} = x^{-2}$$

$$\frac{dx}{dx}$$

$$-2 \frac{dx}{dx}$$

$$x^{-2} \frac{dx}{dx}$$

$$-1 + C$$

$$C$$

$$\frac{C}{x^2}$$

$$x^2$$

$$(Cx)$$

$$+ Cx$$

$$Cx^2$$

$$e) x \frac{dy}{dx} = x^3 \sin 3x + 4$$

$$\frac{dy}{dx} = x \sin 3x + \frac{4}{x^2}$$

$$\int \frac{dy}{dx} = \int x \sin 3x + \int \frac{4}{x^2}$$

$$2 \int \cos 3x + \int \frac{4}{x^2}$$

$$= \frac{2 \cos 3x}{3} + \frac{\sin 3x}{3} - \frac{4x^{-1}}{1}$$

$$y = \frac{\sin 3x}{3} - \frac{x \cos 3x}{3} - \frac{4}{x}$$

$$f) (x^3 + x^2) \frac{dy}{dx} = 2y^3$$

$$y = vx$$

$$\frac{dy}{dx} = v + x \frac{dy}{dx}$$

$$v + x \frac{dv}{dx} = \frac{2(vx)^3}{x^3 + v^2 x^3}$$

$$v + x \frac{dv}{dx} = \frac{2v^3 (x+v^2)}{x^3 (1+v^2)}$$

$$x \frac{dv}{dx} = \frac{2v^3}{1+v^2} - v$$

$$= \frac{2v^3 - v}{1+v^2}$$

$$= \frac{2v^3 - v(1+v^2)}{1+v^2}$$

$$-x \frac{dv}{dx} = \frac{2v^3 - v - v^3}{1+v^2}$$

$$= \frac{v^3 - v}{1+v^2}$$

$$\frac{dx}{x} = \frac{1+v^2}{v^3 - v} dv$$

$$\frac{v^3 - v^2(v)(v-1)}{(v+1)}$$

$$\rightarrow \frac{1+v^2}{v^3 - v} = \frac{A}{v} + \frac{B}{v-1} + \frac{C}{v+1}$$

$$1+v^2 = A(v-1)(v+1) + B(v)(v+1) + C(v)(v-1)$$

$$v = 1 \dots 1+1^2 = 2 \Rightarrow B(2) = 1$$

$$2 = B(2) \Rightarrow B = \frac{1}{2}$$

$$\frac{v-1}{v-1} + \frac{1}{v+1} \int \frac{1}{v+1} dv = \int \frac{1}{x} dx$$

$$= \int \frac{1}{v} dv + \int \frac{1}{v+1} dv = \ln v + \ln(v+1) = \ln vx + C$$

$$= -\ln v + \ln(v+1) + \ln C = \ln vx + C$$

$$= -\ln v + \ln(v+1) + \ln C = \ln vx + C$$

$$\frac{v^2 - 1}{v} = Ax$$

$$\therefore y = vx \quad \therefore v = \frac{y}{x}$$

$$\left(\frac{y}{x}\right)^2 - 1 = Ax$$

$$\frac{y^2}{x^2} - 1 = Ax - \frac{y^2}{x^2} = \frac{Ax^2 - y^2}{x^2}$$

$$\frac{y^2 - x^2}{x^2} = Ax$$

$$y^2 - x^2 = Ax^2$$

$$y^2 = x^2 (Ax + 1)$$

$$v = 0 \Rightarrow 1 + (0)^2 = A(0-1) + B(0)(0+1) + C(0)(0-1)$$

$$\therefore 1 = -A \quad \therefore A = -1$$

$$\int \frac{1}{v-1} + \frac{1}{v+1} \int \frac{1}{v+1} dv = \int \frac{1}{x} dx$$

$$= \int \frac{1}{v} dv + \int \frac{1}{v+1} dv = \ln v + \ln(v+1) = \ln vx + C$$

$$= -\ln v + \ln(v+1) + \ln C = \ln vx + C$$

$$= -\ln v + \ln(v+1) + \ln C = \ln vx + C$$

$$\frac{v^2 - 1}{v} = Ax$$

$$\therefore y = vx \quad \therefore v = \frac{y}{x}$$

$$\left(\frac{y}{x}\right)^2 - 1 = Ax$$

$$\frac{y^2}{x^2} - 1 = Ax - \frac{y^2}{x^2} = \frac{Ax^2 - y^2}{x^2}$$

$$\frac{y^2 - x^2}{x^2} = Ax$$

$$y^2 - x^2 = Ax^2$$

$$y^2 = x^2 (Ax + 1)$$

